BC Calculus – FDW 3rd Edition – Section 8.1 Even Answers

Quick Review 8.1

2. -2   4. 5   6. -4.5   8. 3   10. write: 
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 (increases without bound vs just DNE)
Section 8.1

2. 2, 5/2, 8/3, 11/4, 14/5, 17/6 & 149/50   
4. -2, -2, 0, 4, 10, 18 & 2350   
6. -2, -1, 0, 1 & 5
8. 10, 11, 12.1, 13.31 & 19.487171 = 10(1.1)7   
10. -3, 2, -1, 1 & 2

12.(a) d = -2  (b) 1  (c) an = an-1 – 2  (d) an = -2n + 17

14.(a) d = .1  (b) 3.7  (c) an = an-1 + .1  (d) an = .1n + 2.9

16.(a) r = 1.5  (b) 1(1.5)8 = 25.6289  (c) an = 1.5an-1  (d) an = 1(1.5)n-1 = 1.5n-1
18.(a) r = -1  (b) 5(-1)8 = 5  (c) an = -1an-1  (d) an = 5(-1)n-1
20. a1 = 13, an = -2n + 15, n
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   22. a1 = ¼ , r = -2, an = (-1)n-12n-3, n
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32. converges to 2   
34. 0   36. 0   38. 0   40. diverges   42. 0, 
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   44. 0   46. c   48. a 
50. True. a1 > 0, r = a2/a1 > 0, and an = a1rn-1 > 0 for all n
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52. E   

54. E

56.(a) 1, 1, 2, 3, 5, 8, 13, 21, 34, 55 [image: image10.jpg]


 

58. an = a1 + (n – 1)d implies that 
[image: image11.wmf]11

(1)

(1)

10101010

n

a

anda

nd

+-

-

==×

. Thus 
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 is a geometric series with a common ratio:  r = 10d.  
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